1.

2.

Under the system of Executive Presidency
(A) Parliament elects the President

(B) People directly elects the President
(C) Electoral college elects the President

(D) Prime Minister and Council elects the
President

How many even numbers are there in the
following sequence of numbers which are
immediately followed by an odd number as
well as immediately preceded by an even
number ?

8676893275342235

5228119
(A) Three
[ORLe: Y
=
[z

(C) One

(B) Five
(D) None

The Annual Financial Statement

constitutes the main document
of the government.
(A) Revenue budget (B) Budget

(C) Balanced budget (D) Capital budget

(A) 12, 20
(C) 15, 25

By 3,5
(D) 30, 42

- 8% July 20009 is a Sunday, which day of
e week will 23 September 2013 be ?

(B) Friday
(D) Saturday

\) Sunday
) Thursday

> salt water lake located in Rajasthan is
Dal lake (B) Pulicat lake

Sambhar lake (D) Chilka lake
h among the following is highest in the
> hierarchy ?

1spector General of Police

iditional Director General of Police
puty Inspector General of Police

perintendent of Police
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o)
d by fl:lu;c];)e valldly drawn on the

tled ‘The state of Cities Climate 9,
{1y released by the Cities
Lcadership Alliance and

ﬂ::w} Small ndustries Development Bank of
Tndia (SIDBI)

(B) World Bank o

(c) World Trade Organisation (WTO)

(D) UNICEF

Acculturation s & process of 10.

which results due to contact between

different communities belonging to different
cultures.

() Transmissive culture
(B) Cultural change

(C) Shared culture

(D) Both (A) and (C)

ﬁaa train 5 seats are vacant, in how many
ys, can 3 passengers occupy the seats ?

(A) 30
B) 60
(€ 10 ((D)) -

11.

What numbe
mark 7 r should replace the question 12.
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13.

14.

15.

17.

18.
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isi and

I I i latory provisions £
[ndia, the main regu e 1

{:gizlation governing bribery and corrup
is the ,
(A) Indian CompanydAc

i Code
(B) Indian Penal Co  Code

C) Criminal Procedur :
[{D; Prevention of Corruption Act

izali to
The Globalization rcfers.
(A) Growing independent 0
economies o
(B) Intcgration between countrics th_rough
foreign trade and foreign 11_1vestments
by Multinational Corporations (MNCs)
(C) Decentralization of the economy
(D) None of the above
What is the minimum number of cuts
required to cut a cube into 294 pieces ?
(A) 18 (B) 17
(C) 21 (D) 19

Which type of ribosome present in
prokaryotic cell ? - -

f the world

(A) 70S (B) 50S
(C) 80S (D) 60S
(5967 — 2437 — 1910) + ? = 27
(A) 60 (B) 50
(C) 65 (D) 45

Recently, the NARCL was registered in
Mumbai with the aim of cleaning up the bad
loans from bank books. NARCL is

(A) National Amount Rcsolvancc’CO. Ltd.
(B) - National Asset Reconstruction Clo..Ltcl.
(C) National Asset Resolvance Co. Ltd.
(BT National Audit Resolvance Co. Ltd.

The election system in which the candidate
who is ahead of others, who crosses the
winning post first of all, is the winner

called in

(A) Plurality system

(B) Direct democracy system
(C) Indirect democracy system

(D) Dual Party system
The book titled “I Do What I Do” written by
(A) Viral V. Acharya

(B) Raghuram Rajan
(C) Manmohan Singh

(D) None of the above
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(A) 80T
(C) 1607

A boatman ro

the stream an
stream. The speed of th

1 km in 5 minutes, along

WS :
n 1 hour against the

d6kmi :
e stream 13

(A) 6 kmph B) 3 kmph [-:]:@
(C) 10 kmph (D) 12 kmph &?E@
Country with largest livestock population 1
the world is )

(A) India (B) Australia

(C) China (D) USA

In which language ‘Gathasapthashathi’ was
written ?

(A) Prakrit (B) Pali

(C) Sanskrit (D) Brahmi

The type of soil used as bricks for
construction of houses is

(A) Laterite (B) Alluvial
(C) Black (D) Arid

JIORA refers to

(A) Indian Ocean Ring Asscciation
(B) Indian Ocean Rim Association
(C) Indian Ocean Rocket Association
(D) Indian Ocean Range Association

(%T’I?';?J Agreement on Tariffs and Trade
renamed as World Trad isati

ol rade Organisation
(A) 1995
(C) 1996

(B) 1994
(D) 1997

Frorr_l the‘given answer figures, select thé
one in which the question figure is hidden/

? @/ (b)
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None of these
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(D)
¢ of India introduced the Kisan

%9, , aerrcli (KCC) Scheme in
Cfed;tggs (B) 1990
g 1908 (D) 2000
s arst cyber crime police station was
n
0 opened &t
(A) BangaIOI‘C
® Chennal
code, MERCURY’ is written as
How is NEPTUNE’ written in

Go‘rﬂmm
C

(B) Delhi
(D) Mumbai

4, acerail
YRUCREM".
that code ?
(4) ENUPTEN
(C) ENUTPEN

4. Inplatyhelminthes the body cavity is
(A) Present

BYE (B) Occasionally absent

& () Occasionally present
(D} Absent

(B) EUNTPEN
(D) ENTUPEN

4 n .
3. Consider the following statements about

Pradhan Mantri Kisan Samman Nidhi
Scheme,

L Tt provides income support to all

Lifllldholding farmers’ families in the
neeg“y to supplement their financial
. elatsdfo-r procuring various inputs
&Ctiv?t' to agriculture and allied

I ndé ies as well as domestic needs.
farmerrgl?i,s scheme, all landholding
financia] amilies shall be provided the
iy benefit of Rs. 12,000 per
equal inzglfamﬂy payable in three
every { Iments of Rs. 4,000 each

A) Oy tﬁur months, ’ '

8 Opj issiatement 1l is correct

: Statement I is correct

e abOVe
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50. Who invented water frame 7

51.
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44.

on that, “History is

Who gave e AR ngest aspirant to

the oldest art am} fghe you
pecome & science’ «
(A) J. B. Bury

(C) Kar] Marx

gt. Augustine

= 1d Toynbee

(D) Arno

RO
Secondary productivity 15 T.lth rdtiter -
.-{A] i'ormc;ition of new organic ma

consumers ‘
(B) formation of organi
producer
(C) formation
decomposcl
(D) formation o
CcOnSUmers

45.
¢ matter by

of inorganic matter by

f inorganic matter by

The State which has set up a“happl.nebs
department and organizes Happmcgs
Camps” to teach positive outlook towarads
life is

(A) Haryana (B) Karnataka

(C) Madhya Pradesh (D) Kerala

46.

Who is the current President of United
Nations General Assembly (UNGA) ?

(A) Narendra Modi (B) Abdulla Shahid
(C) Kamala Harris (D) None of the above

Girish walks 8 km towards east and turns
right and walks 3 km straight. Again he
turns right and walks 12 km straight. Now

how far is he from the starting point ?

(A) 6 km (B) 5 km

(C) 8 km (D) 10 km

An increase in aggregate demand over the
available output leads to a rise in the price
level. Such inflation is called

(A) Credit inflation

(B) Currency inflation

(C) Demand-pull inflation

(D) Deficit-induced inflation

47.

48.

49,

(A) Samuel Crompton
(B) James Watt
(C) Richard Arkwright

(D) James Hargreaves

A garrison of 750 men has provisions for
20 weeks. If at the end of 4 weeks they are
reinforced by 450 men, how long will the
remaining provision last ?

(A) 15 weeks (B) 10 weeks

(C) 11 weeks (D) 16 weeks
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ing the ground ?

(B} 13 .
(D) Cannot be determined

g 12 . M

o meter long train moving with an average
ASUd of 126 km/hr crosscs a platform in
G man crosses the same platform

econds. A ‘
94_5mi11ut65- Wwhat is the speed of the man in
nd

54.

i
metﬂrsf second ?
() 1.2 m/s

(C) 1.5m/s
A situation in which society no longer has the
port of a firm collective consciousness

(B) Alienation
(D} Deviation

(B) 1.8 m/s
(D) Cannot be determined

55.
sup

(A) Anomie

(C) Participation
Virus, which infects the master boot record
of a computer system, is called
(A) Stealth virus

(B) File infccting virus

(C) Boot sector virus

(D) Multipartite virus

56.

§7. Reproduction in Plasmodium is by
[A) Multiple fusion  (B) Multiple fission
(C) Simple fission (D) Simple fusion

B A monkey climbs 30 feet at the
?eglnnlng of each hour and rests
200T :.; whlle_when he slips back
climqu before he ‘again starts
o fllng in the beginning of the
i Oénur. If he begins his ascent
first o a.m., at what time will he

uch a flag at 120 feet from

€ ground ?
((g; ¢ bam, (B) 5 p.m.
R (D) None of these
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Which State in India is popularly e SRR ®9 A ST SR T 3 w
ooty () FR B) ¥ ¥R
(&) Kashmir  (B) Kerala (c) et (D) fams Lo
(©) Goa (D) Himachal Pradesh PR W
ing iobs in a buffer | 61 o s ﬂ&&#& x
___ refers to storing jobs : 2 qfs A .drg, ﬁ%ﬂﬁ&ﬁa@@ﬂ_ i
so that CPU can be efficiently utilized. ® A B) ﬂﬁ._
: B) Relocating il
(A) Ema_:,m ( - ) @i -
(C] Swapping (D) Spoolng f
i ot e
Should all the factories in the cities be | 62. Mwﬂwﬁ%ﬂaﬂm EC wﬁ_ﬂ_w QMW u_.ﬂwmﬂ?,
shifted to outskirts far away from the main iy ﬂ@y .
city ? : ? :
Arguments : _ 3 1. &, 7% 31 3 v #1 Tt ag g
I. Yes, this is an essential step for @w 0 ﬂ_mﬂﬂ_mmﬂnw |
controlling pollution in the nmﬁar n; il 11, =&, T e Wﬂw& * et -
II. No, such steps will lead to a lot o
inconvenience to the employees of the il w61 o shreht S g |
factories and their families as well. (A) A IAd Ny R
(A) If neither I nor II are strong (B) aft et 1 R 1 yee @
(B) If both I and II are strong
(C) If only II is strong (€ e e 11 5ee @
(D) If only I is strong (D) IR I 1T
Two solenoids of equal number of turns have 63, WIF YHTE! Y der Jreft @ %&ﬁﬁ
their lengths and the radii in the same 1 2. st P 1: 2% agqua ¥ | SvE ww AR
The ratio of their self inductances will be B
A) 1:2 (B) 2:1 (A 1:2 (B) 2:1
(€ 1:1 D) 1:4 € 1:1 (D) 1:4
The part of Himalayas lying between Kali | 64. el afit gae afai & <= B
and Satluj rivers is known as Terera &% s =57 == e w2 7
{A) Kumaon Himalaya (A) @ﬂ.ﬂﬂﬂﬂd
{B) Punjab Himalaya (B) tee e
(C) Assam Himalaya (C) avam fammerg
(D) Nepal Himalaya (D) aret Rwmerr .
What is the main part of the ovule in flower | 65, el ¥ dfisig & T W R A @
which is surrounded by two integuments ? Bard ?
(A) Micropyle (B) Raphe (A) WIEHNTER B ¥
(C) Nucellus (D) Chalaza (C) = (D) T
- ; g I
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the o Qow?ﬂ .H.o observations is 2% find (A m,m.
(A) 53 ation, d A ;
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arliamentary sy
Italy has &8 P

73. .ad of the State
formal head © (B} Emperor

ime Minister
(A) Prime camr
(C) Chancellor (D) Pres
. ) -
i inting the worksheet, o
;Yajt’;;iﬁ?zso used if only a selected P

the worksheet is to be printed.

ive sheet
i orksheet (B) Active 8 |
©) Selovton (D) None of the above

74.

(C) Sclection | "
What comes in the place of question mark :
2,4,11,37,?

(A) 100

(C) 153

76. In this question, two statements are gix::;n
followed by two conclusions. Qhocsc the
conclusion(s) which best fit(s) logically.

75.

(B) 89
(D) 145

Statements : g%l;
1. All kites are light, &
2. All lights are moon.

Conclusions :

L. Some moon is kite.
II. Some light is kite.
(A) Only conclusion I follows
(B) Only conclusion IT follows
(C) Neither conclusion I nor IJ follows
(D) Both conclusions I and Iy Tollow
77. is a memory management
scheme that allows the Processes to be
stored non-con tiguously in memory.
(A) Virtual memory  (B) Primary memory
(C) Paging (D) Fragmentatign
78. The Organisms in which €mbryonal
protection and care are better in
(A) Oviparous organisms
(B) Ovian organisms
(C) Vivian organisms
D) Viviparous organisms

79, Needle : Sew : : Chisel ; ?
(A) Dig (B) Amplify
(C) Magnify (D) Carve

'80. In picture toolbar options,

14

command deletes outer portions of the
image.,

(A) Insert picture
(C) Reset picture

(B) Format picture
(D) Crop

73.

74.

75.

76.

77.

78.

79.

80.
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91.

92.

93.

a4.

95.

English Language

pickout the most effective wor Cairtic
given words to Ol in the blank 0 ma

sentence meaningfully complete.

d {rom the

96.

‘

Ozg.ﬂm .

L i i
gy et & SRR A R 7
%w%%?mﬂﬁmﬁmﬁ_
(A) dﬂwdﬂﬁﬂwaﬁﬁdfﬂgw
B) B i R R E

il

: to teach
Anusha requires greal ___——
and handle little children who are naughty (C) = T el et & 9 I T
(4) attitude el ® )
(B) patience D) i a g T “ﬂ
(C) aptitude o7, ol I rawedd ¢
(D} knowledge () BFa & 37 T T TG G T g
i e B F AL
Fill in the blank wi appropriate phras .
verbs from the alternatives given below it (B) fopan % Form w9 & S0 gUER A Ay
I shall k thi f %w ] @ MJ
s eep nothing Tom you. g
Tﬁ back ﬂm_ from AO“ @M—— .Wm.@.ﬂ =4 .@ moqw, Mﬂ ad ,m ,_H&ﬂ._ﬂ
(C) under (D) on EER:| e A
. : (D) T H B
Give one word substitutes for the
following from the alternatives 98. TR IS & S 9T [E AT
T4
given below it. % 3fiy s Y T T A S SR
To isolate, to separate from others .. {A) SHERTI
[A) segregate —_Ww M.EM_M—
(B) scdulous (C) THTH
C) scyth
' Rt D) T & 7
(D) secluded _
_ 99. Y, 5|, wifFs i -sﬂﬁ%
Choose the w\,rmwﬁ synonym of the given (A) TeOH
word. ®)
CREDENCE e
(A) Fearful (B) Trust (D) T 9
(C) Madness (D) Modest 10 ) y
& S, ﬂ,ﬂﬂ‘ﬁ_ﬂsﬂ%m\\,
Fill in the blank with appropriate is adjectives It §
from ihe alternatives given below it, (A) uﬂ
Five boys stood in row. MM M.W (B) fe=ht
(A) either . (B) each At (C) deg
(C) neither (D) few (D) T & Y ey
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